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HEH-o — Qung wifley

Part-A — General Studijes

@glsur.rrésaidT : 1-100

Questions : 1-100

Qwrgs wHrGuaTser : 150

Total Marks : 150

gly matched?

-
L Which one of the follqwing pairs is wron
Revolt Kippn

() Ramosis = Poona
1) Kuka —  Punjab
(III) Santhals ~  Orissa
IV) Kittur —~  Malabar
(A) (@ and (III) only

[ ® @D and av) only |
(€) dV) only
(D) (1II) only
(E) Answer not known
Yereu(mpLd @@@ma;aﬂeb seupraTeuHenm GeirHi9ig. :

FlerirEs LGS

I grGurdlev — gmrr

- (ID @a;rr j — LIEREL
(1) spsoad —  gflen
(IV) aﬂ,]l'_'@fr —  eoun
@) @ wppio (1I) wr @b

| ® am wppo OV) weeo|
©) dV) view N
(D) (AII) wrEw
(E)

‘eflen Qzflweieena
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TR N )

mitted by

2. “Problem of the Rupee” i8 the thesis gub

(A) Dr. B.R. Ambedkar I
(B) M.G. Ranade

(C) J.C. Kumarappa

(D) Mahalanobis

(E) Answer not known

9%
< 5 ; B - S FLDITLI
“epumufer Gyésean GTETD Speubl&meeni

I(A) LrsLit 9.9y SADCLUSSIT I
(B) wsr. Gsr. yrarGL

(C) Gg.&. @wruumr
(D) wsreGarmbev
(E) o&feo Qsfwaelédene «

3. Who wrote a series of articles entitled ‘New Lamps for o1d’?
(A) Dinshaw Wacha '
(B) Dadabhai Naoroji
(©) Surendl:anath Banerjee
I (D) Aurobindo Ghosh I
(E) Answer not known

‘Blyy, embLIGD . oL Qeumedr”’ GTEIEILD gsmuul_qlsn as;@smg*‘e_r, Qgr_iflene
erpdlwieur wmfi? - :

(A) STaHT QUTEFST

(B) srsmumy Q‘mm@mré]_;.

(©) &CrsSyss Linarigd
I D) <iyelpGsr Cameg I "
(E) oleni G]g,’rﬂu.r@é]si)émm ;

CCSE2T/2024 2 g & . :



i correey, |,
2:) NII?PI_‘]A'I"I‘ 1 llnll:::ll(l;:‘t""m P it lacntioy
) GICEF 2 Kochj |
g NFDB 3 Chenngg
@ CAA 1 Hyderapaq
W ® © @
» 1 5 - -
I(B) 2 ! . A
© 9 4 1 3
0) 3 1 4 2

® Answer not kriown

Qerai@d BpeIaTRSmaer g6 sfluner @)
S muGLg .
SgILem Gunmssayw

@ NIFPHATT = 1. Quisesg
_(b) CICEF 2. Qasréd
© NFDB - 3. I @& asren G
@ CAA 4. oangyrums

@ G, © @
w1 2 38 4
2 1 4 3]
©z2 4 1 3
s 1 4 2
(E) efler QzMwiefdana
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- T S W TRV T Y ST

cale industries

. ol all s

5. Assertion [A] In India. the l,md]t.mmll = wntiﬂl than the
have greater cmplﬂﬁ’m‘mf’ pe
modern small scale industries. . traditional
3 r 11
Reason [R] The value of capital per worke _Jue of
maller than the v

11 scale

small scale industries 1S S

in the modern sma

capital per worker

industries.
(A) Both [A] and [R] are true and [R] is the corr
of [A] )
(B) Both [A] and [R] are true but [R] is not & correct explanation
of [A]
I (C) [A]is true but [R] is false I
(D) [A] is false but [R] is true
(E) Answer not known
apm [A] o @nbdHuireSled Lirgbufug AmQg &6 RN LS
CouaneeumiirianL paSer Aml G}g,rr@ebasmerr@ﬂl.—
GULP I (&l GOTD 6o '

urybuflu Anlsmfdsaid QsmpleoTaT(héE GoenauiiBHID
ep@sar LI  (G®DalTsEe D paier Aol Qsmflevsafled
Cgmplemer(hEES GzaauliLBIb apgar LY
S SWLISa|D 2 ETeTg). :
[A] wpmb [R] @uer@®id &l opmib [R] ereruigy [Alssmar sflwimer

5rn;rﬁn'of|.b [R] :

A)
 eNlem&asLb |
[A] wombd  [R] @qs&m@r_b #fl <emméd [R] erarug [AluQerr sMwimer

eflem&aLb @IGDGTDGD
[© [a] en meme [R] san ]
D) [A] seum <permed [R] &M
(E) SevL Qsflweldena

B)

CCSE2T/2024



Which of the follow; |
b WINE statement g oy re

. ct?
() Equitable development

18 the main targot of K

Year Plan (X1 Fyp) tleventh Five

(b) Rapid, sustainable ang mor

| € Inclusive growth are main targetg
of Eleventh Five Yeay Plan

(A) * Both (a) and (b) are correct

(B) (b) alone is correct

I(C) (a) alone is correct I

(D) Both (2) an‘d (b) are incorrect
(E) 'Answ'er_nét known
ﬂshm@mm@ﬁ)gjm GTg) guﬂmnmsmm ?-
()

FLOSSIGILD TE0T @m@mmmm 1leug g;ﬁg,rrmr@g ;;:F,IL_L_;{,Qs‘IGm Crréaswngn.
()

Q@»Guasmrreﬂ 1Blemevwi meor Lng)g;um @ﬁ&;uulq_u_lrrm 2 GTeTL SE W auerias
11@@1 gggnm@g S gHer psHw CBI&ESBISETITELD
(A) () wpmib (b) GrerEb sflurerae

B) b)) wvi@Ew sNurers)

| © @ wowsturas |

D) () wppib (b) GremGid seupTaTeel
(BE) o&fen QsMuwsicena -
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t of literacy
4 .+ the targe
regarding -

7. Which among the following is correct
1 I ‘.'.‘tl: Plulln er

A) to increase of literacy to 75% wit Y
(B) to increase of literacy to 80% within the plditt eriod
(©)  to increase of literacy to 70% within the plan period
(D) to increase of literacy to 85% within the plan p
Qmirumen

(E) Answer not known il
Hedlw
Kereu@peuameupmier  Ligsmeim() srsHed sflumer &P

Qs
A) S saresHd 75 eflpsar_re sdellwipleiled o WIMe|

(

ITB) L ssrasda 80 aNWssTrs soefwudeie 2 WTE]
© S L ssrasHad 70 aasr_rs sodefudeld 2 wia] *
&) L ssresda 85 Slsarrs sdaeflwbeie 2 uwime
(E) e Qsfueldme )

Consider the following statements and identify the correct answer :
(A) The Central CIC is eligible for reappointment but the State

CIC is net eligible for reappointment
(B) The State CIC is eligible for reappointment but the Central

CIC is not eligible for reappointment
(C) Both are eligible for reappointment
- |(D) Both are not eligible for reappointment

(E) Answer not known _ |
EpETE@ILD FoHmisaner 5@§§1¢ Qarear®, sflurer el mws Csib0sH&s
(A) wadu smamw 561D <L6EERTILI(MHEHSE woBlweTd FrsHwiibd, <y ermeD
DTG SENWENLD SHEIED ST LOMIBWIDGTD FTEEIWLIDO '
(B) wifleo sowmw ssMH oaTLBEE LHELLD FTHE WD, <,6rmed
' LSS SO SHAID NGBS LHIFlLIGTD Frédwinde

- (O) @weuméEGw wyFluwend sméHuib -
D) BwaumsEGw LRl sTESwbO I
(E) e QsAweldenc

CCSEZ2T/2024



. T p ) 1 - ™ . - 4 .
find out the incorrect, statement about the Sarkarin Commission :

.q.
@ The Commission was appointed on 1983

i ‘ - - .
i) The Commission made 247 recommendations

(iii) The Commission recommended to scrap the Article 356

@v) The Commission recommended that the residuary powers of

taxation should be given to the states

I(A) (iii) and (iv) only |
(B) (i1) and (iii) only

(C) only (iv)

@) (@), (i) and (iv)

(E) Answer nbt known

SEGSTAWLIT By enemTLID UDHW seuprer snbhdlenar sa_Ma :

() srssmur gemeamun 19831 L@ (R é@u@gguuLng
(1) @bz marwid 247 uipsi@rsmer wisss |
(il)) s 356-8 fscaspe Qs Boamun ulbgETESS

(iv) eufedHrnded o erar GT@EHE W aﬁasrrmma;eh wrflomsafllb  @)maEs
CouaT(HILd erarm @6 Y amenrwid LAHSMISSS!-

(A) (i) wppid (v) 5 Eid

B) (i) womw (iii) wrEw
(©) Gv) LECEN -
D) @b, (i) wHpgd (1v)

(B) oo Gsflucidme

3 S 9 CCSE2T/2024
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10. Choose the correct pair :

Name of the President Elected Year
(1). Dr. S. Radha Krishnan — 1961
(2) D1 Zakir Hussain — 1966
(3) Fakhruddin Ali Ahmed — 19’?4
(4) N. Sanjeeva Reddy = A9
(A) (1) and (2) are correct - (B) (2) and (3) are correct
I (C) (3) and (4) are correct I D) h(1.) and (4) are correct
(E) Ansﬁer not known |
sflwimer @a)mmu_l' el :
| @l@wv&,&, seeallr Guwi ' Csip@sHEsauLr L 2aTh
(1) Dr.S. yngn Spepener _ 1961 |
(2) Dr. sn&ir o Goer — 1966
(B) usmSar 2160 2s0E —- 1974
(4)’ N. s¢iéou Qriiig T — 1977
(@) Q) wppd (@) slurerg  (B) (2) wppis (3) sfwnerg
| © 3 wppo @) shuras | D) (1) wpgid (4) sfwrang

(E) o&Men Qsflwueldeana

CCSE2T/2024 i 10



noth (n) ANV

Find out the in(,m‘rectly matched,
g

) Article 18  _ Abolition of Titles

Protection of life and personal liberty

) = - -
Protection against arrest

—

(i) Article 23

—

Right to free movement

I A (@ii) and @(v) are Incorrectly matched I

(it are Incorrectly matched.

(C) () and (iv) are 1ncorrectly matched

@ @) and (iv) are Incorrectly matched
(E) Answer not known

F1LDSHSHET LG D m)| i SEUM e @qﬁm&rmu_l SetorL_fhlss

O ey 18 e e S5 |
(i) s o gy 21 au&]neurrggg,m WwHmID gsu‘ﬂ mmﬂg a‘régbﬁﬂﬁé\.ﬂ)&ffm
urgsTiL |

(1) s Q;QJDH 23 &) Q&uhmulu(amﬁaﬂ@ﬁ;@ LImgismiLy
(iv) sl 2 muiy 20 —

&SHIH TLONG BLOTH\euShHSTe aﬁ\@m

(A) (i1) wpomib (V) seuprear G e I

(B) | (A1) womib (1il) seuprer Qenent
©) () wppid (v) poupTar Geoar
D) (@) wppid (v) seuprer Geam

(E) Nev Qsfueidend
1.1

CCSE2T/2024
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od
8 is described ns the “Destroyer of cities”?

I (B) Indra I
(D) Vishnu

E
(E) Answer not known

‘
&I . . ?
Sener cmgﬂuueurr’ eraiml erjbp Gougd &l G |eir 2| Hluid u@fﬂm""'-

o el [ ® @sdrer |
©)  @srar (D) cAevam
(E) ofanL Qs fweldene

: ?
18. Which one of the following is not correct about Harappan culture!?

aracter
n villages for 100

(B) The Harappan cities depended ©

labourers

(C) Harappan remains discovered even 2 sma

(D) The most distinctive feature of Lothal is dockyard

(E) Answer not known
m eTHl?

ST aDDIET QLI ;5rr.s;rﬂasm L g,surrgrreaT gofD
fMab CQameLgl

. &
A) g}guurr ‘r_r;rra;rﬂasgﬁsu é\immggj @)L _mis@EpLD rlbasl;r BT

LI [HSIBIGET a_mrmasarra;mm umﬂu.:rrmrra;@asasrraseqm E3D1

(B) any
FTibSBHSS)

(C') anyLiLm prefasder crégniser S

Wi é]r,rrrmréw;aﬁ@u_b S 60 LS5 e DG

(D) Gargsaler fplLbsd SIODAPSD H&D
(E) &lerL Qzflwaeildene

CCSE2T/2024 12 | E



. upla emperor :
rhe GYI perors before Chandragupta-11 jssued only ———

coin®: _
(A) G ol - I

@ Silver

© Tn

(])) Copper

) Answer not known

,Igsm_.m_b gy &L . ‘
p"mru_lréw;mm L HCw Qg’g:ﬂ%f_ﬁwg,m GUS  \DEITETIT&ET
_ iT.

I (A) SHHBISLD I
(B) SEeocrel
(C) s8I
@) Q&b

15.

(E) e&lev Qzsfueldeana

Haque-i-Sharb (or) Hasil-i-Sharb means
(A) Land Tax

(B) Irrigation Tax ‘
(C) Commercial Tax '

(E) Answer not known

anmé-@)-aumill 2jeg) a_rr,ér&sb-@—aqmﬁﬂ erasTugen Qumpet

A)  Ble eul | B) graurser euf I
C) auenfls cufl D) sms el
(E) eflen Qsfuwefcrena
13 CCSE2T/2024
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16. Which of the following is correctly paired?
(i) Hematite Ore - Oxide of iron

(i) Magnetite Ore — Black ore

(111) Limonite Dolomite
(iv) Siderite Iron Carbonate
a) (@) only

B) @) and (iii) only

©) (), @) and @v) only

| (D) _(iii) and (v) only |

(E) Answer not known

QereumeaaTeudBle) eTena Filwims @ eneanrdsLiLL (HleTemeT?

@ - Capwe i SH — _@gmlﬁlm'%&;maqﬁ
(ii) CusaeLl srs — SGUY ST
(i) eCwrener —  GLmeeol -

Gv) Acepg - @mwy sriruGer

A) (@) wrEw

B) (i) wpgud ({Hi) wrEb
© @), (i) wopd (V) G
| © dii) oo (v) oo |-
(E) oflen Asfweiieme

CCSE2T/2024 : Y 14
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I (C)

Denslﬁcatlon and compaction are unit operations that are used to

;ncrease the density of recovered materials to reduce transportation

costs and simplify storage. This method is used in

A)

(B)

Composting of degradable waste in MSW

Transportation and Transfer station storage of MSW

Construction of Landfill site for MSW I

D)
(E)

DAL T5E)
CellLILISSS

SILTEHW SaNssc HWETLIED i@ Qewudurpser wp@ib.

Processing and the Recovery of wasté compohents from MSW

Answer not known

LODID S (H&sLD eraTLIg GunG@eirsss Qo samars @mmuugp@m,
| ﬁmﬂﬁ’“&‘@@-@ﬂ)@m. B QL G&asrir L QumpL_safler

Qbg ey

eeuBLD 6Thg penmudien HweTU @SS LILGE D) ?

(A)

(B)

MSW@e wa@in @lieLsamer 2 JONS @SS

MSWg@ern Gué@seaurss whmb Lfombo Blanavw Cadlriy

I<C> |

MSWS;&%WGW ;_F,]GUU) Byl sersHer sU_(Bwmenrib I

(D)

(E)

MSWal(mpg sfle) smpsmers Qeumrsesd whpib S QL Bsse

eflen_ QzMwefNcranew

5 CCSE2T/2024
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18. Recently in Dubai, cloud s
The most commonly used se

ceding technology is used to get artificial rain,

eding agents among the following are

(1) Silver iodide
(2) Dll'y ice
(8) Sodium chloride
(4) Lead iodide
(6) Ammonium sulphate
I (A) (1), (2) and (3) only : I
(B) (8), (4) and (5) only
(C) (1), (3) and (5) only °
D) (1), (3) and (4) only.

(E) Answer not known
a;smmwuﬂ]m UMD Guws desliy Gsmfldnpiub Gaupams MR Gu
et (hSSLILIL L G- -
15165761l (1h @11 6T D M) 6T - eTena6 Qungieuns aflens i (PHQITHETTS

2 LCWrdlsslILBSSLILHEleTmen ?

'(1') Geudrafl HGureL (B
(2) ocofuaf
- (8) Gamguib @C&dﬂrdm@

4) rFu SGureLE ‘-

(5) =ubGoreflwib FOCUL
L 0O e @ o |
B (3), @ wppo B) oL

(C) (1), (38) wpmib (5) LB

D) (1), (3) whpmis (4) wLBb

(E)

CCSEZ2T/2024
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PR L e =
e DT AN
T EHN AT \
“Meamannen, €

et
Rgs apifint Qb 7

‘Tamil Naqy, Day’

(A) June 8 Clebrateq fvery year on
(C) July 8 B) June 18
()  Answer pey knowy, I =L S I
HOPBIO Bomp g
(A) & 8 e MO Gy, Hengfe an@anLuU(BeE\m@
© mOma B) %o 18
E) ol ngm‘aﬁmm I (B) QOma 18 I
90. Which Qf the followmg 1s Correctly Paired?
1) 2014 _ Target Olympic Podium Scheme
(2) 2023 _ Mera Yuva Bharat MY Bharat)
| (3) 1982 _ Sports Authoﬁty of Indig (SAI)
(4) 1984 _ : Dronacharya Award wag insﬁm.tef‘
(A) Only 3) is Correct I - B) (1) and (2) are correct I
©) Only (4) is COorrect B9y
(E) Answer not knowﬁ

)8 and (4) are correct

_ BSSLILLC @) em et TG 7

(L) 480140, - @DV Cuoen Qesss AL

(2. 2023 — gy Qwamus g (MY Liypg) |

3) 1982 _ QLT Gﬁ]mmmm'_@ beentwib (SAT)

(4) 1984 — | g@rynmm#&nﬁmwﬁ reTter—my

Q) (3) weEb s B) ) wpgiws (2) &
©) @ WL B &/ DODID (4) &
(B) oflen Qsfueimema ‘ |

[Turn over



21. A current of 0.5 A passes through a lamp for two minutes, then the

number of electrons pass through the lamp is
(A) 6.25 x 10'® electrons

(B) 6.023 x 10% electrons

(C) 1.6 x 107" electrons .

| (D) 3.8 x 10% electrons I
(E) Answer not known

0.5 A WeGarm Lib gefimpd eferé@ eufluns @ram® Bl riseT umiSpg
erafled, efleréig aufiGu Qeen erdliblenaranidaafien crekemtldms
(A) 6.25 % 10'® revsi prenmsdr |
(B) 6.023 x 10%® erevsr_grerser
(C) 1.6 x 107" erwsigrerser
| I (D) 3.8 x 10%° crevs_yrérser I
(E) e Opfucidme

22. ISRO prefer to launch Human sﬁace flight mission during
75th independence, the (crew member) explorer is named as

- (A) Astronaut (B) Cosmonaut
| I (©) _Gagannaut - I (D) Ganganaut
(E) Answer not known ;

QpHu lamGeiall e mwwgsted Tdeaug sspdysdHear Curg geuriL@bd
Carerh  ClFogid  dlamswgsder efamGeusfls  Lwemmd

Loevfls e eurds

GupQame@pbd @ 2-mrndeari ereueurm S@WpESILBeUTIT?

(A)  <yevl Grmpm < - (B) srevGummm
I (C) srasmmm I (D) smsrpm

(B) oevr Qsflweliédena

CCSE2T/2024
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29 gelect the Chmnological order of mentor — student chain in the

ostablishment of scientific methodg

A

B)

Aristotle — Alexandeyr Socrates — Plato

Plato — Socrateg _ Aristotle — Alexander

[®

Socrates — Plato — Aristotle — Alexander I

@)

(E)

aﬂ@@ﬁm popsenen ‘r_ﬁ\g)lmeuﬂd) Gugla;m_tq_
.5rrm6uiﬂma=uutq_ Ggrrp@g,@a;am_lm

(A)

(B)

Alexander — Aristotle — Socrates — Plato

Answer riot known

alﬂ@fut_ll'rl'_lq_é) = SQe&snam_it — srsfed — 199G G

GGar_ GLrr — srdfied — @ifevim 146 — ey@adsrabr i

—  wwrewteul sridaSlenwy

I ©

FréTed — QGG — SfflevLmiged — G e&smaRTL it

®)

(E)

an&&nﬁw;ﬁ_—'-aﬂdUI_nl;Lq_sb — &n&Tiec — NCar G

Qe Glglﬂtu@‘.ﬂé.}_mm

‘19
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24. A force of 1N acts on a body of mass 10 kg. As a result, the body
covers 100 e¢m in 4 seconds moving along a straight line. Find the

initial velocity of the body.

(A) Gem/s
I (B) 5cm/s I
(C) 8cm/s
(D) 12cm/s
(E) Answer not known

10 HGor erenLwjerar g GQummefles 1N ellens Qeweou®éps. Do
eleereuns oips Qurmer 4 lemmgseailes 100 Qg8 CriGamiigd BSHL

arafled Digem b Geussmss sadTL HuieyLb. _
(A) 6 Qe.8 o] B

; &.10/ellermg. <

r..- —a 3

| ® 50s.8/60am, | N
. /ﬁ .
v

%

(C) 8 Qs.8/e%armg
(D) 12 Qs..8/e0armig :
(E) e QsAlweldeane ‘ £

Green light shines on a rose flower. Then, the colour of its petals seems

25.

to be
(A) Green (B) Pink

| © Black (D) Red
(E) Answer not known |
@ Crregr Bloliyedd Lsms gafl @aﬂ-ﬂ'aﬁléseﬂmgj. SALGUTg), Digesm f@g,g;a;éﬂm
Blmwnss Coreammiaig) T
A). useams (B) Qeueflrfleuriy

| © sooy | D) Aeury

(E) &9ev Qsflwelecranen

CCSE2T/2024 20



IAINMER O POl lBROss T

Neyveli ]\.ignii . N
Il‘llc‘ . ( ('(]l-l’()l‘ [ X .
A . " ] nll :
Government of India iy £ ion  wns oestablished

; by the
C yeany
9506

I (&) lq;{; (B) 1979

© D) 1959

(@ Answer not known

ApGaued  Sdenesn )

ﬂg:muuu_l_@? ﬂim’ru@l}%m ;ﬂgymemb @Ebffﬂlu DITETED ﬁummg
I e I (B) 1972

(@ 155 (D) 1959

217.

Arrange the following universities j '
ie
the year of establishment @Y e v o

(1) Manonmaniam Sundaran
(2) Bharathidasan University
(3) Thiruvalluvay University
(4) Periyar University

@A) - (@), @), (1), (3) I B). (2), (1), @), (3) I
© 1), @), @,@ D) @), 3), @), (2)

(E) Answer not known '

.g]e'ms};@m HOSDOESpEMSmT Doy Bimieuciur 2pETG 6T SreUMNeneLILIg
ROBISELOEHELD :

1) wGermreroafiluib s yermi LOSEa &S 08D

(2) urfn;rg%]g, TEFET LIDSMESLHED

(B)  Hmeudr@Epeur LOSM&ESNS 1D

(4) Gul‘ﬂu_lrrr'r_ usbasmebééasiaga;m :

® @,@,06 [ ®onwe |

©) (1), (2), @), (3) D) @), 3), @), (2
(E) e Qsfuedere

21 CCSEZ2T/2024
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28.  Assertion [A] : Backward class commission under qliairmanEhip
of B.P. Mandal was appointed by the Bresiddit in
. exercise of the powers confessed b
Reason [R] :  The commission has developed eleven indicators
to determine backwardness.

y Article 240.

(A) [A] is true but [R] is false
’ t

(B) Both [A] and [R] are true; and [R] is the correct explanation

of [A]
I (C) [A] is false, [R] is true

J) bBoth [A] and |R] are true; but [R] 1s not the correct ex
of [A] - .

(E) Answer not known

planation

' suQnEuaslllul;l_

anbm [A] - s Lr9Mey - 2406 eLpeLD SOTEHEG

- efsmsHarug  gamdud  B.P. war e
- Upu@GSSLILIL L eu@ui_fﬂem@asa;rrem QTS SIS

- Bludlgsmi. :

- Qéiaureanub Gergmdw Hlevwerw Sroraflés G e
GDST g semar 2 (Heunddlu|ererg.

GTGOTLIGLIED [T

SITESTLD [R]

A) [A] sflwreng) <perme [R] seupreng

(B) [A] womw [R] @U’GMI'GILD &lﬂmrrmgj Cuanb [R] %@T@j [A]GQD&SH'GUT
sflwner efearésid

(©) [A] g,m_r_r)rmsrgj [R] &rﬂu_lrrmg,j

B O u_lrraﬂgj Speed [R] <yens) [A] G)S]ma;nar

Fhlwrer eler&sd jehew :

(B) o&le Qsfwueldena
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LI T T f'jﬂruy."?. v

Match the following :

() Non-Brahmin Movement
() Self-Respect Movement
© Shuddhi Movement

(d) Sathya Shodhak Samaj Movement

1. Jyothi Rao Phule

2. E.V. Ramasamy

3. Dayananda Saraswathi
4. Sri Sahu Maharaj

@ () (0 (@)

A 2 1 4
® 1 4 2
(C) 2 3 4

| ®1 2 3 |
, ‘ nown

Sp&SETL_aubhenmLl Qumrbsss :

N

LR

(a) ﬂ\unmw:;rsbsurrcgrrr'r. Quissn 18 Cegrdymeu LGeo f":
(b) swwollures @LL!E;FSSELb 2. m.Qaeu. gmwemd
(c) G“"’ﬁé] Quissid 3. swurahs sTeveud
(d) - s5wL Corars FOMH @QWESD 4. U e LHTTY

@ ®O @ @@
A) 2 T G T
® TN/ & s
) 2 3 4 1
D) 1 2 S ik
(E)  &flenL_ Ggnluieieoena '

CCSE2T/2024
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30.  Arrange the following events in chronological order about E.V.R
(1) He became the President of Justice Party
(2) He joined Congress
(3) He became President of I'amil Nadu Congress Committee
(4) He organised Vaikom Satyagraha ‘
A (2), @D, 3), (1) (B) (4), (1), 3), (2)
[© @, e, q D) (3), (L), 4, @

(I£) Answer not known

m.Qeu.gr. uHM s euflensliuilg. Geraupd Hlapasener @@rf.xa;mmé;a;mﬂ).
(1) <o BHs sLAuler GeeauiT 6T '
(2) euir srrdyedley Carbsmit

(8) wieur sWODLBETEH STHE 6L sLOL g udlesr SEEUIT QT
(4) oaussbd ssHurflysd gleusHearmi
(A (2, 4, 3), (1) - B) @, D), 3, (2)
[0 @ e w o @, @ @
(E) o&ev QsMuieievency

31. “Vaanalum Selvamum Mannarasum Yaan Venden”
\

[I don’t want rule the sky, wealth and monarch]

Who said these words?
(A) Ramalinga Adigalér
(C) Nammalvar

(E) Answer not known

(B) Sundarar
I (D) Kulasekharar I

“eumarm(@EpLd Qed@euptb amaysid LTeTGeamGL e — GTETmI LHTIqWIGUIT
(B) apsyir

(A) @urodns Sigsermi
I (D) s«Gssyir I

(C) mibompeurit
(E) oflev QzfNweldrene

CCSE2T/2024 24
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32 Match correctly the Newspapers associated with its Founders :
@) Richard Johnston

1. Madras Courier
®) GoPL Edlls . 2. Madras Mail
(© Charles Lawson and Henry Cornish 3. Madras Standard
(@ G-Subramania Iyer 4. The Hindu

@ M) (0 (d)

[w: o = ]
@ 1 2 3 4
© 2 3 4 1
D) 3 2 .1 4

(E) Answer not known .

_ Gﬁ“@@’“’m.&’ﬁmﬁﬁ@i—m Qi jenLw G\&uﬁ;ﬁlggrrmm sAwuns Qﬁn@ggmm :
ta) 2O grrdnéeirr |
.(b) G.P. Qérener
(c) &rrr're\)lefp OITEET LOHMID

Gamesril a6

1. wsyrev safwir
wgrren Gouded

LOGTTGL GOL_T6sTLiT(H

(d) G. sogweafi gu.m P . 4. 5 ahpsl

o) = (b) » (. . .(d)

I @a 1 3 2 4 | |
@) 1 2 3 4
(C) 2 3 " TREA
s 2 i 4
(E) ofen Ggﬂusﬁlsbmm
B . 25 * ~ CCSE2T/2024
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\}umber four and two are strengthening your words
\umber ‘two vefers to what?

(A Proverb I (B) Thimkku}:al I
(©) Naaladivar (D) Aathisoodl
(E) Answer not known

TR0 QrenPn Qerogizepd” aem uplonfde Praml TEEES

Q) LEQum | B Sosens |
©) srevwum D) wsdé&x

(E) SaL Qsflusfoea

34. According to Valluvar, which will be considered with ulmos

gratitude?
(A) As Bamboo as Benefit I (B) As Millet as Benefit I
(C) As Sea as Benefit (D) As Mount as Benenit

(E) Answer not known

aseer ‘Lenanuara) Benhlwnss Qarereuil erem eueT@peuiT GHUIARSEDTT?
Q) erdd sierey par | (B) Sever sierey perd I
(C) sLe ety pemm ' D) voo siere) e

(E) der QsAwucioame .

35. “Kallaarai Kaanungal Kalvi Nalga
Kasadarukku thookkumaram angae undaam”

Who wrote these lines? _ o
I (A) Bharathidasan I (B) Kannathasan

(E) Answer not known
‘BORMNNE STEEIGTD S0 BOGTE
HFLITEGS FIEGWID kCs o a@r mb” —
Bésalens aufls@ré@ o Mweur wir?
(A)  umdsneer I
(L) euamremgraer
(E) e Qsfudoma

(C) Vannathasan (D) Vaanithasan

(B) sawemsrsar
(D) aurexfligreen




at its Liahore Session on
(A) March 5, 1933

(B) August 5th, 1933

(C) March 23rd, 1940

D) March 22f1d, 1941'

(E) Answer not known

< lew @,EB,@UJ‘ @GUG\?LD G’S&S urré;]ﬁmgrrm §,rrmrraﬁg,m§ Q&  LOTBTL 16
er@umpE ﬁmmemﬁlmQ'p

(A s 5, 1933

B) aymevr 5, 1033 °

(G) LDiTE 23, 1940‘_

(D) wris 22, 1941

(E) eflev Qgﬁmmﬂéﬁmm
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A« P O Lmd R

R (—>D2 0> —> 8|
e ing is equ
37. If ABCDE = P1Q2R3S4T6 then which on¢ of the following al
to Q2BFV7A.
(A) BQ2V7GP1 I_(.B.)_E.QZUGEPI
(C) BQ2VT7EP1 ’,gaﬂBQZUGGPI

(E) Answer not known =
' : e ehQIBFVTA

ABCDE = P1Q2R3S4T5 aran @GBS Qeraugpeiemaippier @

TETUSM(S FOWMERTG! TS ?

(A) BQ2V7GP1

(C) BQ2V7EP1

(E) oo Qzflwellddene

(B) BQZUGEP1
@) BQ2U6GP1

— 38. Gopi sold a laptop at 12% gain. If it had been <old for Rs. 1,200

more, the gain would have been 20%. Find the cost price of the

laptop. : : COS{ P\ch_ C = loen -+ —
WRS. 15,000 ; I 20 % Joom = "-"\‘I".g‘ e

“Rs. 16,00 | . e -

(C) Rs. 14,000 - ¥ 5 =

(D) Rs. 15,500 ZERGY 125 f1xe0 oGk PR
(E) Answer not known | ?’Zi ',‘;i s | = o™

& \ = '-\_,DOD

Gamd e (oigsseavilaienw 12% @mnﬁgﬁlﬁ@ afppmr. G@Id DS

5. 1,200-6@ &mBsQMs ApPGHSTD  GaTLd 20% <5 QBB BHSGSLD.
ig Saarflaflufler oL &6 allmaamus STes. .

|@&) @ 15000 |
(B) . 16,000

(C) em. 14,000

(D) ' @. 15,500

(E) ofenL Qsflweldena .

CSE2T/2024 - 28 LT B



at is 20% of 30% in 500? -?‘;%, X ::[’;‘-"'g . SYch
3 [ a5 B30 | (B) 150 - o
©) 75 (D) 100
g) Answer not known
=00 @& 30% wHu9e 20% GTGITEUT 7

I &) 30 | (B) 150
© 75 (D) 100
o J_| = 23— '2_1
40. Find the missing number in the serjes. 13 B2

/ 4,18, ?, 100, 180, 294. 448

| (A1 48 ' | (B) 50 t
© 58 (ihto lPe=’ B7-57 =
(E) - Answer not known ‘

QarOSsLILIL L GT‘é_Bl'rl_rﬂaS](l_‘p‘rb@ AHULL cTRTenewTs: &reirs.

4,18, 2, 100, 180, 294. 448

@ 48 . ® 50

C) 58 . (D) 60

(E) eflenL_ Qs flweldena "

3
7= 33y = bu-r6= 43

41. The sum of first n natural numbers is 253, then find the value of n.

[@ 22 | B 18 Mo4 . an=a2s3
C) 24 e D) 16 PRl e
(E) Answer not knm.zvh; _ | h"i ne 506
o n Quie aramsafen sz 253 earaflc, n-@er WSl srers.

[27]22 | ® s | N spne Fobes.
©) 24 | - (D) 16 <°'L (n-22) (290
(E) e Gzflucioena - o ~ 50k ~ 23 e e e

) X
) - 29 ' ‘ CCSE2T/2024
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- 42.  If fox=cat then xerox may be equal to

(A)  terct ¢ =3t

(B) tcroa

(C) terot B sl 1k
] (D)) terat I

(E) Answer not known
fox=cat eraflés Xerox ereiig erHenesr &DO&@D?

(A) terct
(B) tcroa
(C) tcrot
I (B) terat | I

(E) ofer Glgrﬂu.rsﬁ]ebc;msn
ame

Three dice thrown .at once. Find the probability of gettmg S
PD&S\\x\érq

43.
‘numbers in all dice ;a-\t.l cubore
e L ()_L' %w&e&@m

6 : 216 e &
7 —
= (D) E . 1<y _}Qn ) 1(3_,2.9,
- L @)
ol \

(E) Answer not known

QpGTM LISELSET QRETDITS a_@i_L_uu(aLo(Burr@ élmsurg,gj uassm_uﬂgm &@Cr

e e Aan_&5 HlEpssa] GréiTenT ? LR
1 | ' S
s Y
@) 6 B) 216 -
1
L)y = D) =
‘( ) 36 ( ) 2

(E) o&fen Qgfluwiafebeney
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44,

45.

The Cur ved surface are

a of a right circular eylinde
66 em2. Find the diame vinter

of hej —
eter of the cylinder, eight 7 cm is

@A) 2cem CSA o C:jll'\"cl:--f s &b

(B} 9o 2k = 66 r
o — R 2 Al et
"(fg) ‘Answer not known e _Si |

Q&5 euener L. "
g?@imsrruﬂw GE]L_ll_—ILEu;rG;:n‘:r_UJ BE SphaiC e mmenigp ik QH preee,

A) 2 Qs S
(B) 4 @s.5
(C) 6 Q&8

@ 30s.8 ' |

(E) o&fev QsfNweleoena

The value of a Htotor cycle 2 years ago was Rs. 80,000. It deprec:1ates
at the rate of 4% p.a. in first year. In second year it increases by

4% p.a. Find the present value. N e
(A) Rs.76,800 = vValu. = Rs. ®oooo |
(B) Rs. 80,000 ' Q_p,)_e)r | ez _— L F cﬂp.P‘OO_C‘bC&ﬂ
i C) RS 80 128 : r‘TLah e “K‘RQ =~ 536\.‘/_ a 62‘3 - Beooo
Rs. 79,872 I '

() Answer not Known /\‘m;) H&PM L . 7‘1‘“'" 101"_/; ﬂ (%\j-j ‘Ko

B F&ESBT @UTHETLD @m@m efeme Grar® paETOsEnsE e am. 80,000.

WD B YTy HSG 4% S@pAng. Gremimd am® 4% SiHsNsdps
T ED )5 60T g,g)Gurrm@u_l Meney ereumer ?

(&) e5. 76,800 | | -:;L;—.x _?_‘L x Sebsp
(B) . 80,000 | 7 el
(C) ew. 80,128 cF e B RLAL,

II/(Ei@'79872 |

(E) o9ew @g,iﬂu_leﬁcom@
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W There are four cell phones in a house. At 5 a.m, all the four phoneg
Will ving together. Thereafter, the first one rings every 20 rn4189, the
socond one rings every 30 mins, the third one rings evex.'iyl thenfl'ms
and the fourth one rings every 50 mins. At what time, Wl ouy

~cell phones ring together again?
20, ko )BD ) B

A) 1P.M. Jer i'(

(B) 1 A.M. — 600".;“3;5=f0 b -

[ oprm B TR T

“ (D) 3AM. X s oo N e,
(E) Answer.not known I“fi‘i“ ‘!O%m '}"‘“Ln;‘;v“ 5-8?%0 ;F% g~

S1"_tg 6 meirE; o GUSEET 2 eTerne. :
ggmngf@g @s(?r,mrra; @Ral&@LD. 6T (ApFeD meGUElLTTS) @wgﬂmﬁg
20 Amsalgyb, @ram_rag s@oGUA geblaind 30 HOlLms (%JJL;
apemreug seaGUSl geublaimib 40 Bfl_rseflgib, pn@&qm@.&sﬁ?@) u
gaiQeaurgy 50 Al msallgib galsdlamer erafld, oimal Seamr@b eriGLTg|
RETMHTS a0& @G Lb ? ; .

A) QQipused 1 wenfl -~ @y aw __>. 2 pm
(B) @popuse 1 wexfl 2 : .
I (€©) Qhuse 3 wenfl I

D) ppused 3 wenfl _

(E) oflen Qsfuieldane

47. IfHCF of x®—8y> and «2 — k%y? is x +ky then value of &
(A) Z2or -2 _ (B +2-

Lo te -4 ®) 0
(E) Answer not known

x%—8y% wopw x? — k2y? ar 1B Curg eu@sd x + ky sl B

&L
A) 2 sz —2 . (B) 419
C) -2 | (D) 0 |

(E) afﬂsm_ Qs Mwelebenev -y ‘833—' 13_@:05; (m;}j)(hl_i'%)
ET = weyts borg)lnoy g

> k=-2

'CSE2T/2024



48.

49.

50.

In how many months the principal of Rs. 2,000 will double at 8% per
IGmm ST =200 |

annum in simple interest?
(A) 144 months I /mo Months
- j7 o elolahars i
(C) 120 months (D) 140 months S PN
CoX DAY _ ?,G'f-{

L = BT

(E) Answer not known
safl auly o sd @ 2,000, 8% ailyeissded Qrigliuns eeucusra)

NS DG ?
(A) 144 wrgriser I (B{ 150 wrghiser L
(C) 120 wrghiser (D) 140 wrgmser = Nes Yo
(E) o&len Qgflualdeame FHE 62' k. ""%)'f-
' oy
= )5D ety

The L.C.M. of 3, 27and00915

A 2.7 ) {H) 0.27 4 /1% 2

] '1 P =]
(©) 0.027 - _ors P ‘|3 dnd o=l
' R T ,Lcmr)W 2e0 , 230, 9

(E) Answer not known
3, 2.7 wpmib 0.09 ér.18.8.10 ' ts  2%oo

A 2.7 E (B) 0.27

i Ao o 2>
(C) 0.027 - | o 27 i il s
-(E) oo Apfueiiome R a

Which one of the followmg lles between /7 and 4/5? :
(V3 37 - #Jg ? -szq’-)-i

@A) 2 . g
©) & s AT 2 )_«/_ e sh = g 1es)
(E) Answer not known
_£gpasa;:m‘wumm,@m e 37 Lo mILD \/_ 5 @aupdH& @“"—-uﬁ]@ é:qemu:.u_lm'? : 1
) Y Vi
&) «F e (B) «F é o M U
: | b o Y ~ (64)
(E) oflen GQsflweiidbene Fn A \[——»‘_ 2 )_;a: . zq)’J/h
CCSE2T/2024
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51. Arrange the following Books of Jawaharlal Neh

order considering their year of publication.

(1)
(2)
(3)
(4)
(A)

An Autobiography : Toward Freedom
Glimpses of world History
The Discovery of India

Before Freedom

@, 3, @), D)

| ®

@), @), (3), @) |

©)
D)
(B)

(@), (3), (4, 1)
@), @), 3), (1)

Answer not known

Lauanitere  Cp@ellenr EHIOSMET @6l
SigUuenL ufled srevalflassuLhSSs :

1)
2)

3

G
A)

@ swaflens : .&g‘rja‘é,]rn_b Crradl
2 & UMM GIT LIMTTene
@8 wireflerr 5@ 9 1Ly

&SNS DG per

@, 3, @), (1)

| ®

@), (1), @), @) |

©
(D)
(E)

@), 3), @, @)
@, @, @,
G)S]Gb’)l_. CsNwueNdenan

CCSE2T/2024 34
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5. Who among the following had started ‘Mitra Melg’ Association?
(A) Shyamji Krishna Varma N

I (B) Vinayak Damodar Savarkar I
(C) Lala Hardayal
(D) Sohan Singh Bakna
(E) Answer not known |

IE\GBFGU(BGU@T@Q,@GD “Wsrr Cuoerr’ shIGSMmS Qgmmdweur wmi?
(A)  eipwmbgd Ameigenr auirior '
If(B) B rCwnsi sreuirds I
- (C) _surrlsurr amTHWITET

(D) Geramer iy usGerm
((B) e Qsfweléema

/

53. Who founded the All-India Muslim League in 1906? -
(A) Muhammad Al Jinnah . |
|B) Khwaja Salimullah |
(C) - Sir Aga Khan
(D) AX. Faizul Haq -
(E) ‘- Answer not known

3 a@m@ﬁ;ﬁﬁu (ymusﬁm cSé_s'a;L'_él@u_l 1906—@ ﬁgjaﬁlijgj wiTir
(A) sws 216 PerearT :
I B) seurgm seSlapeadn I
(C) & aps smam

D) or.Cs. @uED and
(E) ofarr Gzfluciona

_ | o | . CCSE2T/2024
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4. Assertion [A] : Swami Vivekananda founded Ramakrishn,

Mission to popularise the teachings of his master,

Reason [R] . Ramakrishna Mission was a monastic order anq

devoted itself to the spiritual development of Man,

I (A) [A] is true, [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanation
of [A]

(C) [A]is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

Fahmi [A] : saumf  ACGeustatpsit  sag  G@edar CuTgeeTSma
LFLuL @rrod megentt Wasener HlmieSermir. -
smyewd [R] : @) 7o (HeigamTT Lﬁlaq:m@@ SOAID SEWLUIL| WHDID i
weflsafar <embs auariEdlseE seramen ifliLlSSSI-
I @) [Al &, [R] soug

(b)) |A] bomib [RJ gnl, |R] [ IO FITUWITET UleTHsSLD
(©) [A] soug, [R] &l -

(D) h [A] LDpj)g]ij [R] &rﬂ..:g,amrrsb [R], [A]uﬁ]@scm_m Fflwmes aﬁlmésasméba)

(BE) &lev QzfNwelcrena
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5. Arrange the following studies of Poverty in India in chronological
order :

(1)
@
(3)
(4)
(&)

Ojha’s study
Bardhan’s study
Minhas study

Dandekar and Rath study
(2), (4, (1), (3)

(B)

(1), 4), 3), (2)

©)
D)
(E)

®, @, ), @
@), (1), (3), (4)

Answer not known

@Eé]’mrraﬂd) QumIeHLD . updlw  Qereumid
RPBISENDEHD :

(D
2)
(3)
4
(A)

PR ey

L& mest c%u_lm

Wleranmen <o uiicy

g,aiurCSL,;safr LHmID Fré <26

), (@), (1), (3)

|(B)

1), (@), 3), ©2)

(®)
@

(E)

®, @, @), @
(2), (1), (3), (4)
efev Qafuwseidane - -
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56 1 technolomes

igita
Inorder to double the Farmer's income through digl

action should be taken from

= . . ‘cies and reform
@) TEChnOlOgy generation and dissemination, p_Oh &

and development initiatives
(11) Policies and Reforms
(i1i) Reforms and Development

(iv) Artificial Intelligence

A) () only | ® @ and v

(©) (i) and (iii) D) (iv) only

(E) Answer not known

%"—'—"” QQWLQGDQJL_urma;m epevtd afleusmudlsertlem aj@mrrmg,mg, @UL_Lq_uurrgg;

ah&s Geuamiqul BLauig Sans

@) QAsmPemr L ;!J_@@Jrrésa;m wHmId  ureud, Qardassdr  WHmI

£ﬁ§1@g‘grsjaseir WDmIL eueTiiEs sarbdlaer
(1) @a;rrmsmas&@m ﬁnﬁl@gﬁma@m
(111) ﬁr@@ggfma@m qpm@arrmm@om

(iv) Qewpers mieTaTdalib

A) () weEw | 1 ® 6 opgitb (iv) , ‘
(C) (i) woHmd (iii) _ D) (v) wr i
(B) eflen Asflweiidoame

| ; 38 F; |
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Match the following :

(a) Tax Revenue 1. Interest receipts

(b) Non-tax revenue 2. Net market borrowings

(c) Capital receipts 3. Taxes on Income and Expenditure
(@ ® (o)

@ws 1 2 |

(B) T 2 3

C) 2 1 3

(D) 3 2 1

(E) Answer not known

emeumeuameupenm QUMHSSHIS
(@) eufl eu@peumL 1. euly pég

(b) afl sidors umauris 2. By sbos sLeTseT

() wposar r&g&6T 3. eumwnrer whpib Qewey srer eufiser

V() I ()

A 3 1 - 2 ' I

02 J 3
@ 2 1 3

AD) 3G\ 1.~

(E) ofenL Qg,rﬂu_laﬁ]doemm |

39
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68.  Match the following :
Enacted Year

(a) 1963 1.
() 1991 2.
(© 1971 3.
(d) 1951 4.
(a) (b) (c) (d)
A 3 4 1 2 I
(B) 1 p) 3 1
©C) 4 3 2 1
D) 2 1 4 3

(E) Answer not known

SpéseTaupenmr QuTBSSIs

Qupprinic L e

Name of the Act

Prevention of Insults to National ’
Honour Act ’

Representation of People Act
Government of Union Territory Act
Government of National Capital
Territory of Delhi Act

gL gSler Gluwir
Briig 6 GLimento ammﬁa;asuu@mmg,g,
gL Qe sl ib

L& &G @Uﬁ,ﬁﬁggjma FLU_LLD

Qpdwu @emdluicy u@@& &L L_Lb
Gg,é]mg SMOBSEIT Gh_eucﬁ] @fsﬁrpﬁlu_lu LEHE

FLU_LLb

(a) 1963 1
(b) 1991 2.
(© 1971 3.
(d) 1951 £
. @ ® @ @
IY(%; S 4 1 9.
1 2°7 8 4
04 '3 .2 1
D) 2 1 4 g-

(E) &fen G]g;rﬂu.mflsbmeu

CCSEZ2T/2024
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- Assertion [A] © Governor in . the Indian Federal System is

assigned dual role, as the constitutional Head of

the State as well as the representative of the
Centre. |

Reason [R] The Office of Governor is against the Federal

structure.
(A) [A] is true, but [R] is false | I
(b) Dboth |Af and [R] are true, and [R] 1s the correct explanation
of [A]

(C) ) [A] 1S false,_ [R] 1s true

(D) Both'[A] and [R] are true, but [R] is not the correct explanation
of [A] |
(E) Answer not known E
Cempm [A] QbHw sal Lrt Auled, <epemmi, <irdlen ST HDID
' wHFw sigfler GrHHd eranaun @@ Gswrar Leflsmar
e mir.
smyewrid [R] 2 @B erenm HmouarGio L LT 8&G ardyrans

_ I (A)  spm [A] &7, perme a;fmsamb [R] seums
(B)

Fnbml [A] DLODID &njaib [R] &M, Ghaib sgapm [Alssrer  sfwmren
Aearssioms sryaumd [R] 2 GTeng)
©C) smpm [A] g,sugu,' srgand [R] &M

‘D) @mpm [A] wpgis smremn [R] @ran@io of, eyemme gapm [AlssTen

-gflwuner efletsaswne sryemrd [R] @deane

(E) aﬁlmt_.G\g,ﬁ]u_iaSlsbsmw

- ‘ CCSE2T/2024
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60. The framers of the Constitution incorporated the duties of the Stat,
in the constitution in the form of the
(A) TFundamental Duties

(B) TFundamental Rights

I (C) Directive principle of state policy I

(D) Rights of Citizen

(E) Answer not known

aq@mmmmumu o (HUMGEHWUTEET 6T SL@W&EETTE T
@ ns m@sug,ﬁm C‘S&r‘rggmfr.' |

(A) Sl ILIENL. SL_eOLDSET

B) <@uueL 2 Amwser

| I (C)  ewdlern auflsm i Qpbdlpamsser I

D) GywssesssTar o Nmwsedr

(E) ofen Qsfwedcana
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(1
(2)
(3)
(4)

which of the {ollowin
Constitution?

¢ bodies doean't/don't find mention in the

National Development Council
NITI Aayog
Election Commission

Finance Commission

I (A)

(1) and (2) only I (B) (2) only

(©)
(1)

Spsen  sewlysafld
sreTiuLeddvene ?

(1) and (4) only

(D) (1), (2) and (3) only
Answer not known

TENGU/ETENGUSBET  ifflueld  FlLS55HO

(1) wombd (2) LD I (B (2) ween

(1) wpmbd (4) LGB . D) @), (2) wogid (3) LLEW

(1) Caflw eueni&ds @

(2) B Guns

(38) Csiise <y emaruld

(1) PB wemun
[®

(©€)

(E) ofer Gzflueicena

62. Who among the following is the only woman historian to have
written a historical account of Mughal period?

I (A) Gulbadan Begum I (B) Zeenat-un-Nisa Begum
(C) Jahanara Begum | (D) Zeb-un-Nissa Begum
(E) Answer not known '

GeeumueuisERer aomuiseflar srwssled bLbs augerhm  Hapaser
apdwu @Gy Quenr eugemHm <L MwIf wimi?

| »

Gdusa CusDd I (B) enng-2 an-Hler Cusbd

(C) gsenmyr Gusid (D) Qgui-2 an-Hlar Gusd
(E) efer QaMNweldana
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63. Which one of the following is false with regard to. the reign of

Ahmad Shah?
I (A) He transferred his capital from Gulbarga to . E I
’ : . ] arty

(B) The rivalary between
became accentuated during his period

(C) He conquered Warrangal in 1424-25
dom of Gujarat to his Emplre »

(D) He annexed the king

(E) Answer not known
eﬁuﬁle‘o £C§’w@ulﬁlc_l_m;j);ﬂeb T8 HIDTETS?

“Iammu.aﬁ]m‘ oLl
(A) seepsar Gourssraladlbbs SLm(mé @ WwrHlermi (1425) I
Qauaflpm (&  SUWSGSD

(B) wieur srosdd Léfdr  GWeIHGLD
@enL_ulevment CSLDrrg,Gu uHd GuelLL () ubBSS!

1424-251b 24@Tiq60 GUTEISED GTETD @b @stupPULLLS

(©)

D) YIS dyms ser GugyaL e @enanrggis Csmem i

(B) o&fev Qsflwaeildeame

Who called India as “Ethnological Museum™?
| ® REK Mookerji |
(D) V.A. Smith '

64.

(&) R.C. Majumdar
(C) H. Risley
(E) Answer not known
- @pdwur @ ‘wefls @wgﬁé&r cﬂu@@ssm'_é]u.laub" GTenT _cgqc;mlc.p‘e_'r,g,a_lrr WITIT 2
I (B) <=,1.Gs. apsied I |
D) of.g. evifls |

(A) =yir.8. wegebsmi
(C) Qamé. Meved
(E) eflen Qsflueilcdene
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Wwhich of the following Harappan sites are not in India?

65 .
I(A) Mohenjodara and Harappa I (B) Lothal and Kalibangan

66.

©) Bhanwali and Ropar

Surkotad .
(E) Answer not known e i

‘g%;;?;ﬁ?—mmmlm e ewruunr prafss serhiser SHOUTWE @pHwnelld

T QursEESTGIT LHMID amyiiLr I (B) Geongge whmib &radluirses

©) LIGureumeol m@m eHUImiT (D) arGammnm whmib Gameonelgm
(E) eflevL Qzflwueldena

Around 25 districts in t_he east coast; 10 1n Tamil Nadu,
7 in Andhra Pradesh, 6 in Odisha and 2 in West Bengal - are
vulnerable to cyclonic storms. Among these, which area accounts to
70 percept of the cyclones of severe categories?

(A)’ _Chﬂika region

(B) Nellore region
(C) Machillipatinam

(D) Sundarbans Area

(E) Answer not known

é]%pés@éa-a;;i_‘mgsmguﬁldi g 25 Tl LhisdT; SUIDBTL g6 10, gypdyrelieo 7,
@iqomeiled 6, wHmb Coh@ mssHd 2 - @oreuell Luiesermed
LTHESLULSsmiguiemal. @eubdled, erbsL UEGHWTETE SHEODWITET NS
Luasaile 70 gseis Lndllumu SiemLujb? _

(A)  Adsr ued 0 . I

B) Qpogrr ued
(C) w&HduiLtigard
D) FHSTEISTLILIGS ; ‘
(E) e Qsflweidame
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67. A tribe of India is

Connected with Eklavya in the epic Mahabharatha

(1)

(2) Lives in Aravallis, Vindhyan and Satpura Ranges

(8) Hutment on a small Hillock

(4) Maize is their staple food

Which tribal group of the following suits for the above conditions?
(A) Gonds

(B) _Todas

(C) Bhils

(D) Santhals

(E) Answe_r not known

EpssTanilb mbmsEESEGw @pé\uneﬁm (1 Qgrﬁj@quﬁ]mm el ?

D& s @Hans SSTLILTSS D FTE@OEUEILGT QST TL{enL W6 T&HeT

(1)
(@) epreudd), iy wHpID SHLTT @S QsrLirsefld euTpLGUEET
(3) A Gamsaa Ghos D@LSES '
(4) DESTE GamanGuo Gygmen 2 anrey
(A) Carear@ser
B) CsrLitser
(C) Qevev =
D) smphsseT
‘ (E) Gﬁ]am_ Qg,rﬂu__m;ﬁ}ebcmo

46
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G8. The northern upland of the Karnat

69.

aka Plateau is known as

[@ Malnad |
(B) DBetwa
(C) Dhasan
(D) Maidan
(E) Answer not known
ggl;;aauug:ﬁﬂ%;@m UL Bleoiugiy S
I (A) LOTEd BT (H) I
(B) GQuieur -
(C) sngem -
(D) enwiLmer
(E) aflen L QsMwuelarena

‘Which Ministry launched the Digital Intelligence Platform (DIP)
"and ‘Chakshu’ facility on Sanchar Saathi portal?

(A)

B)

Ministry of Power

Ministry of Civil Aviation

_(©)

Ministry of Communications and Information I

D)
(E)

Ministry of Earth Sciences

Answer not known

THS SIGDLDFFEHLD &@&ﬁr’r s d) Curr_Leled el L miamamhe| seTd WHHD
‘Fnsase asHow QsTmEwug ?

(A) e iemEFHD

(B) &l efwner CUIE@GMTESS SIMLEFHD

(©C) sseud Qgmiy D|ENLDFFSHLD I
D) Yyl fleflicd SiewEFFsD

(E) &fen QsMwshlerency

CCSE2T/2024
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70. Match the following :

Part I Part 11

() India 1. Bald Eagle
(b) dJapan 2. Dolphin

(¢) United States 3. Peony

(d) China 4. Cherry blossom

5 Royal Bengal Tiger
Codes :
@ G © @
A) 5 2 3 4
B2 1 4 5
I (C) 2 4 1 3 I

@ 5 3. .1 2

(E) Answer not known

Qeieu (e arel HEnD QumBSSIs

u@d 1 . ued 11

(a) '@.@.‘Ec’]u-'” : 1.  cuwpsms 5WGS
®) goorer ) A
() <=QuissT 3. 9Cwraf

(d) E&errr 4. Q&M weisd

. 5. éllj& GURIGSLIL|ED
@S : -

@ ® @ @
“(A) 5 2 3 -
Bl ] 4
©C) 2- 4 1
(D) o 3 T
(E) oflen Gzflweiicvans

N w Ptk
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71. who had been given the “Shilp Awards” by the Ministry of Textiles
" and Industry? '

(A)
(B)
(C)

to legendary drama artists
to rural women entrepreneurs

to legendary farmers

o

to legendary crafts person I

- (B)

Answer not known

gajefl  LOMID Qsmfldgimn @wsssssTd Sou  lHHsT  WIHES
qupBISLILHE DS ?

(A)
(B)
(C)

LeREUDD BrL_&é& a;smu@r‘ra;@és@
Syrworiym Qe Glg,rr@sb(bosmsm@mm‘r
HapQubp efeusmuleer

LasREUHD mEellameans smeEhiser I

[

(E)

cflen Qsflwelldena

L]

79. Some parts of the moon never see sunlight. Because the axis of the

- to the direction of the Sun’s light.

moon 18

|® Perpendicular | ~(B) Parallel -
(C) Same (D) Opposite
(E) Answer not known '

Aoelear Ao LGHser LGLMEID &u gafllee urissGsuiidene. eér
aampre  Hoeder  oiFs  Gllw afllen  Smsss

NS

@wLusTe. i
| Qouegsrs | B) Goenuns
(C) swwrs (D) adyns
(E) oNer GaMweildeana
CCSE2T/2024
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73.  Match the following :

(@) COq 1. Ground water pollution and
particulate in air

() NO, - 2. Global warming

(c) Lead (Pb) 3. Acid rain

(d) Hydrocarbons (HC) 4. An ingredient for the formation of
photochemical smog

(@ ® (© @
I(A) o 3 1
(B) 2 1 4
(Cy. 8 . 2 1
D) 2 4 3
(E) Answer not known

= W &

: ﬂshm@aucarsuﬂ;smpﬁ@un@@gjaz, '

(a) COz | 1. fegsy B r&UTH mmgjm'aéﬂgb@éo
' p & 20 - o.GmeT SISEH(H WIS
(b) NOx . : 2. yei Qeuliubwiomge

- (¢) arfww (Pb) : 3. oifle b

(d) Gmgml'_G;;rrra;rrr'rueb'r (HC) 4. gefl Gaudlwd Yamsuei
.- _ s’_.(_rpsurr@a_lg,masfrm @ @,ocuuﬂurr@m
@ ® © @

I (L2 08
@ 2 1 4
©c 38 2 I
(D) 2 4 3
- (E) SanL Qg Mweildema

S

50__.._ - l?’
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75.

Assertion [A] : 9

fertitizacon
I(A) [A] is true, [R] is the corre

. 3 g AL T y "‘-;(-"hﬁ'“{bm@ ﬂ”b?) =y e
e ¥ Faiv iy ha? = =

-4 - Dis used ag herbicides.
1 R I T e i . :
Reason [R]  : 2.4 . D induces Production _of fruits without

ct explanation

(B) BOth [AT and [R] are true
(C) [A]is false, [R] is true

(D) [Alls true, [R] is not the correct explanation
(E) Answer not known

FaHm [A]

‘smyend [R] 2-4-D smeupmod safl » reins ST Dg).
lA) LAl stlwrerg), [R] &fwmer eNerdsib ib '

2-4-D &SSO & Wms; Qewd LB ng)

LA

B—7dohms {R] silweng) |
©) Al seuprang, [R] sfiumearg

D) [A] gflwreng [R] #fwmer derss8dena
(E) oo QsfNweldrena

Objectivity,

Predictability and Generality are the features of

(@) Scientific method |

(B) ~Scientific enquiry
(C) Scientific attitude
(D) . Scientific experiment |
(E) Answer not known:

UDeuWIUL L Geenid, @W&mﬂqugmmm

" LOHPIL  Qurgemwsseramio
<% Seney

O S| DEBRSETTS SAMOE D).

(A)  oflefwd e

B) eifefwue sryaanr _
(©) SiMelwd wearlumerann
D) eMefwd LfAGergenen
(E) ofleor QsNwecrena

g1 . CCSE2T/2024
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Identify the correct expansion/meaning ol “CIEDAW”

706.
(A) Convention of the expansion and development of Adolescont

Women

C) Convention on the elimination of all forms of discriminatinn

forent ideas for women I

against women
Congregation of the eradication ol all 10rms ol discriminatiop

against women

(E) Answer not known
Qeneugauarapdles “CEDAW”  earanp  eflfleundagdlen/@umnmener oluinss

Carb0lsH&sab.
(A)  euemir@emid LHeLIQUaTsafle @m@mm,mm woHmb eflfleunés wrmrg

(B) Queansepssrar LueGan  H(HSSI(HETESE &men BenL_(penHLUILIBS5)0h

nrr‘Errn
IC) Quets(@ée afigner Si@ags &g unEUTL@eanD ﬁ&@%ﬂ:&ml

BT (H
(D) QuemsEssE edlyren @;mmg,gj g ungr;,un;qsmmum eulluugharer

gaen

(B)  eflen Gsflweiicbanen

Which one of the following is a one-stop source for all the geospatial
data for the state of Tamil Nadu?

(A) Tamil Nadu Geographmal P031t10n1ng System (TN GPS)

(B) Tamil Nadu Geographical Information System (TNGIS)

(C) Tamil Nadu Global Information System (TNGIS)

(D) Tamil Nadu Global Pos1t10n1ng System (TNGPS)

(E) Answer not known :

SWIDHT(H mHlwssharear oman s ) Q

& e e 58 U W6 HI6|&(@mHé @0 Gmeu@mmmmgﬁ]m
(A)  s8pBTEH LeSlubGwe Blevoiu®ssd @i

I (B) sllpsr® yeluwed sseudm S|@LLL

(C) sllpsr® eesearmaiw BHGUD Dol

D) sRErH ewsemellu Heoeru@ssd SienioLILy

(E) &enr Qsflwaldrena

52 : | : | B
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The United Nation hng declared 1987
(A) International veay af il Gl
I (B) International year of Shelte I

as

r for the homeless
1Y N ey 2
(L) REETEAUIUIAL year of Women

(D) International year of Cleanliness
(E) Answer not known

1987 - & 25 LW B[ senL <o E55).
(A) eeuGss Quer GLBDSSET <y aT(R)

I (B) emeulgs 2 enpellin @Gbmﬂg;mﬁa@é;@ a_émmaﬁ]L_Lb QULD MBI (GHLD <4, e80T (i) I
(C) &iaulss waallitssmer <2687 ()

D) ereuCss aspsfpanar.oemEm
(E) &lewr Qsfweldana

In_ which year-Flip_kart"signed a memorandum of understanding
with the Tamil Nadu MSME Trade and Investment Promotion

Bureau? '

[@ 2021 /D
(B) 2018

(C) 2001

D) 2011

(E) Answer not khown

by @ Geflusmil, slper@ MSME eaiigssin LHDID (PSS

sarg@ailliy flbgianiey Lenilwusss e PUUBSSS D ersQuipsdi L g ?

| (A) 2021
(B) 2018
(C) 2001
D) 2011

(E)  ofen Qsfwueidama

53 | CCSE2T/2024
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80. Mntch correctly the following found

names :

(2) South Indian Liberal Federation

1) Kudiyarasu Journal

() Emergence of Labour Oragnisations

(d) Swatantra Party

@ b (0
A 4 2 1
B) 4 1 2

(d)

|(C)4.3 ¥

(D) 3 4 i
(E) Answer not known

3
3
2
2

9
2.
3.
4.

ations with their COTrespon
In
B

A. Singaravelar

C. Rajagopa]achari
Thanthai Periyay
C. Natesan

Slebreu(mLb DG SSATRIGDET |5 QsmiryenLw QuuirsGarm®  sfuwims

Cummssis :

(a) Qg eirefl b B 2 flenwédF srisb

(b)) Gyurs @sp

() Gsm@ereri DAL sarf e (Sg,nbb,mib

(d) sgpdly &8

@ ® (o
A) 4 ¢ W
(B) 4 1 2

(d)

I(C) £ 3 1.
Oy 3 4 1
(E) e Qsfwefdena

CCSEZ2T/2024
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1.

82.

=T 2 _— | ;
According to 2011 census, the density of Population in Tamil Nadu
15 |

(A) 450 per square km

(B) 555 per square km I

(C) 650 per square km
(D) 750 per square km
(B) Answer not known

(A) 450 R0 FHIT .18

I (B) 9555 @m sgir .48 I

(C) 630 em sz 6.8
(D) 750 e® sgiy .15 - _ .
(E) el QsMiuefdena _ :

Tamil women who were competent in literature, music and drama
were called as '

(A) Mudukkuravai I

- (B) Mud_inmagalir

(C) Viraliyar
(D) Kanigaiyar
(E) Answer not known

Qosdwib, @m&, -LF)WL&L?&-:%@UJG}JQ)@GU Csiredl Quibm s Querser
e — CTEOTM MLD&ESILIL L Gorir, .

@A) wssevma.

(B) g erosafl i

ey eNyedlwii

D) sefavswr

(E)  oQenL QsMNwellcvensy
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Cchoose the right matches among the following

o (1)  Thiru.V.Ka —  Desabakthan
(2)  Subramania Bharathiyar —  Hindu
(3)  Annie Besant —  New India
(1) Kasthuri Ranga Ayyangar — India

I (A) (1) and (3) only I (B) (1) and (4) only
(C) (1), (3) and (4) only (D) (2), (3) and (4) only
(E) Answer not known
Qemaumib aumss@ QoL Cu sflwrar Qurpssrsmar Gsia) Cewwa]b.
1) Hm.e.s | —  Gssusgen
(2) sugwerilw uryFHwr —  @bs
3) enmaflQueer —  flu, @bdHwmr
(4) sevgnM grs SwkisTT —  @pdwur
[& @ oo @uoces | © ® @ opps @ o

©) @), 3) wpmb (4) L EL D) (@), (3) wpmb (4) WL EW
(E) ofeL Qsflueidme

84. originail name was Kumarasamy Nayak.

"~ (A) Kattabomman I tB) Oomaithurai I
(C) Dheeran Chinnamalai - - (D) Marudhu Pandiyar
" (E) Answer not known ‘ ' |
& @w,rj)Quu;lfr GLITET Bruwds,

(A) sr QLM ber | | ® eowwsgon |
(C)  Srex femanoame (D) wms Lramgwir
(E) [ QzMweldene '
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According to Valluvar, what is the weapon to destroy the arrogance
of foes?
I (A) I_-Ieroism I (B) Force
(C) Fort (D) Wealth
(E) Answer not known
‘venseuflesr Sireuden P b’ ; y i er than'é;
GBI JTTE SDME  ILEGD  Pus B i i
[® e | @ wal
(C)  wier (D) Q@séeud

86.

(E)  ofen_ Qgstﬂmaﬁ]cbmsu

€«

that man desire it is plain whom others wealth
Delights not, feeling envious pain”.

Whom does Thlruvalluvar refers to in the given above Thirukkural?
(A) Nor wealth nor virtue does that man

(B) Man of envious heart

(U) Envy they have within
(D) Goodman-

(E) Answer not known

113

merTéeLb

Cuentngl @y(W&esmIL Lime”

GTENTM) WITEnTy ﬁ@mm@mn @@Lﬂﬁl@ﬁ,mrrrr?
(A <iper &5 Couatrmgmer

B) ecueNw QB EsesH e I

C) siwssmm 2 a_wiresr
D) QesueNwiresr
(E) e QsMweldena
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What kind of Dhoti worn by maternal uncle while singing lullap,,
you identified?

(A) Silk Dhoti

(B) Sandal Dhoti
I(C) Thuvai Dhoti I
(D) Mallu Dhoti

(E) Answer not known

87.

sreort_HlY umL_eSlé SmuiLDmLDes &L_1g GU(HLD Geul_lg 6uems TSI ?
(A) ul® CGeullig

(B) spsar Gaulig

I(C) siameu Gaul iy I

(D) weogy Gaulig
(E) o&fev Qazfwelcvency

“Utruzhi uthaviyum uruporul koduthum” —

88.
What field is eulogised in this Purananootru Paadal?

o) Education (Kalvi) |
(B) Charity (Eegai)

(C) Integrity (Nermai)
(D) Truth (Unmai)

(E) Answer not known

“p_pHmif 2 sefub 2 mGlumber Qar(hSgIb” —
Cuoharepib LDHTEIHDILILITLE Dl e Spriemu cuedlumsgHEeTmG ?

I(A) soed I ,
- (B) rFes

(C) Cmsrianw

(D) 2 GhranLD

(B) ofer Qsflweicrene
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90.

ETOEMGE G&r‘r(r_i‘;g,su TN&& &(5s

Choqse the Sangam period in which the poet Nakkirar was
considered the most predominant poet :

(@) First Sangam

(b) Third Sangam

() Second Sangam

(d) Fourth Sangam

(A) (a) only |
(© (9) and (d) only

(E) Answer not known

B) (b) only |
(D) (b) and (c) only

&G Qarr@ésésuu;_‘_@mm sl BESrT s @é;éilu Hevalgrs ThSEF Fhis
Lu®E i 9 :

(@ wso smsn

(b) . PG LD FRIGID

© @rermn FRISLD

(d) prarsmb st

) @ NN I Geige ]
© © wop (&) ven _ D) b) wopw (€) we o
(E) oenr Qsfweleene G W

One sidé of a feétangular field is
17 m; Find the area Of. the field.
(A) 80 m?2 '

15 m and one of its diagonals is

| (B 100m® 4
(C) 110 m?2 | A heom? Py Iregoms Has
(E) Answer not known -

BG Osdias aar Hasdar @G Uss oy 15
tpeeai L 17 8 erefe, Begder uriiLetenas srems.

B opgId eisar g

Ao
(A) 80 .82 (B) 100 82 axea - Jxb
(C) 110 .82 | I D) 12082 . 15 %8
(E) Qe Qzsfweldena = )aom%
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91. If1, 2,2, 3,8, 3.are the faces of a die, 2 such dice are rolled. In hoy
many cases 2M die face is bigger than 1# die.

W3 S:‘_w*;\o‘ &Ptulﬂ_?-, S = U'nt),ﬂl-'l-) cg.:),h.z)qr.gj, Cl.},)

B) 5 2,1) C3,2) (202) (33) [243) ,023)
©) 8 (3 (2iay C22) (213) G L3
D) 11 () Cmad (32) (33) (2,3 (2.9)
(E) Answer not known L o) (1,3) (2,2) ¥ 36230 (3.3)

1,2, 2,8, 3, 3 @pswdiyser Qaran. @@ Ls@LSET 2 GLLLIUED Auripg,
wsd useLwWer s wHumU L QraTLTag useLuder s Ly

I zg)‘,\&zrras O(H&s eumlLIL|&6T Grgﬁﬁm?ﬁi?’oczﬂ—) {3";)_ ('3'_,0 ('3,3)) [3,33%
“®) 5 T nC:,T|: &™
©) 8 : N pﬂ.uc:u\e.' Ho o .Q-enp,qj A ;J&}_J})ICL 2), (_)_’__;Q/()r}),fr,
W) L | i), (23),08)

(E) o9enr Gpfusivema @1 2,9 |

iched @ues = 2. |
92. If Rs. 10,890 is divided among A and B groups in the ratio 4:5 then
~ the group B’s share is . _

A) ‘Rs. 1,210 % slae = %_)@ TorTS
(B) Rs. 4,840 @ ._ TTA: T
I AC)r Rs. 6,050 - I LY st e _}7%

“(D) Rea.b,448 " 7 -
(E) Answer not known it
ep. 10,890 g A wpmb B eetp @@ GWEsEHEES 4:5 srsa@ NflssEled
95516 Qar@ssrd B @uwelne daLs@b Ggrms e ? |
@A) e. 1,210 iy '

B) . 4,840
| © @ 6,050 i
D) . 5445
- (B) e Qsfllweféoame

— 6050
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93.

94.

Gt B
t=ab e e =
cat=abc
(<
¥ dogeies Qs
tan
Then which one of the following may be equal to peersy
b
@ S () o=
aec

ace

cbn cbn
©) ace ’({)(Laec
(E) Answer not known

cat=abc tam ' : A" .
' GTGuT BT —— eI lereu(HeuaeuUdMIET  GTHETTED
dog=def & 8Cbs = &l

GSD&ES UL eomb 7
b
a) a2 | B P
aec | ace
@ 22 . - @ S
- ace aec

(E) el Qzflwueidee -

KV’//A
MMCZSW,FNLO PR

ol'question mark in the following sequence?

GDR BMP D45 ?

[ &g |  ® wq

(€ MKO j (D.) M4Q

(E) Answer not known
. E&GBDM4NKH2ACZSV3F1JLOQ5PR

elleorm @ﬂ)]USL@&;@u udleons eumd G]‘e_r,m._rr eTHI ?
GDR BMP D45 ?

@ MNQ ] (B) 4NQ

(C) MKO ' D) M4Q
(E) efen Qzfweldeme .
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F ok

lQexe qa:s.l é{z"‘{:\k J )(\,"“ ‘C\ij e Q Lechn = Jé? -f ]11
2 " P n h o= = —gl;;__“

h n

—

2
t

95. A can finish a job in 6 days whereas B finishes it in 12 days. The

time taken to complete the job working together i8 ?

(A) 6 days I _(B)7 4 days T4 folkex Ay
(C) 8days (D) 3 days o 4.
(E) Answer not known Complele

; He Loy,

A cauaii @ Caimamw 6 prsaigib B eaueir 12 B seflaud Pyl
aafller, @meumb gaprss Gsing b Geumoaw THSOET BT Gafd

@R UuUr?
(A) 6 priser | (B) 4 priser I
(V) O b

(C) 8 priser

(E) e Qsfuaideame
(g8 Lﬂ‘" = 24X 1'5")()\
( MY —,lé)

Vc:(...me j’ Solon 3 : 4
Ahd . T chanedt Ndine = FhIE 7
A swimming bath is 24 m long and 15 m broad. When a number of

men dive into the bath, the height of water rises by 1 cm. If the
average volume of water displaced by each man be 0.1 m?, how

96.

many men are there in the bath? Wl ok ol G
A) 32 | B 36 = 2u0¢ 153 oL
(C) 42 (D) 46 = Buh wd

.1__P | e c::Ls.pL;QaA -

. Hon do dnplaid 3.6 Weler

e Besw @eanb 24 BULT Beraptd 15 18U Lt sisepd QararLgl. @oindle

cranaflémalonar SyanadT SbssE GOSHO GHEGD Gurg), Bifler 2 wmbd

e Q&8 2 wiidngl. @@ opan egrafurs QeauefiGupmib Bler sierey 0.1 5°

rafld 2ips BEED GOBHD TEEEEN YEHTEET 2 GTaTaT( 2

A) 32  (B) 36 t”mﬁm S
2 D) 46 .

© 4 @) (Ry, 86 raant

‘ aa dod

(E) Answer not known

(E) ofen Gsfluailerena
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97.

_— Mkﬁ mlﬁ/l‘éx ){ e
'pp
Find the simple interest on Rs. 68,000, at 162% per annum for
9 months. - 5
(A) Rs. 7,500 | (BY_Rs. 8.500 |
(C) Rs. 6,500 (D) Rs. 5,600

(E) Answer not l;nown

IO Q. Afsn 162% erafedr . 68,0005@ GETUSIH LISEIGE5HE S6f

QUL GTGHTET?

A)  @. 7,500 B (B) @. 8,500 |

(C) em. 6,500 | D) em. 5,600
(E)  eflenr Qsfweferena '

_A::.'j;"
___ B=3N L B . <
98. IfABC>2 YA B s #2750
3 te—gazlsequao __Q__,eé';_'“f,
- - = = d.r l._.
A) 8:9:10 ' (B) 8:16:24
@ : - e = B <29 o 24
I §:9:24 A<l (D) 24:9:8 2 12 T
(E) Answer not known ' | - =B AN L3 Y
._A:B:'C=2:3:4'Grsu‘r’-lcb'%:,g %mmﬁuq
A 8:9:10 (B) 8:_16:24
[ @ 8:9:24 | (D) 24:9:8
(E) e Gsfweldanea o |
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99. Reaching the place of meeting 20 minutes before 8.50 hrs Syp;
found himself thirty minutes carlier than the man who can,

40 minutes late. What was the schedule timd of the meeting?

(A)  8.00 (B) 8.05 ‘WTter Max o,

(©) 8.10 | (820 | e alq,

Cing i, ofiee Wor M Vo otaddlll {.
_ =) hroedita Sted d Re20 MQL‘“%

sal b gouniGaugh@ 20 BlolLbd eraG safle) ererLiali 8.50 LE P

QeeTpmit. k@ Sl LD SeubiGaSDHE 30 $lblLib wenarGr eupgl N Lgns

o TiHSTT. (H m@ﬂgr‘r Fal LSSDS 40 HBLID STOSTOGLONE uUBSTT eraflg)

sal L b gleuhs GMSs GBI eree? - '

(A) 8.00

(E) Answer not known

(B) 8.05
| (D) 8.20 |

(Cy 8.10
- go —
(E) &Moo Osflwueidama v £1 o = #75“' b rn.w-h = thﬁsﬂ

rides woov\e |
A CP Bey L s MRS = 22 e Lipes = Wwedd,

o<

100. A can do a certain job in 73 hours. B is 20% more efficient than A.

How many hours does B alone take to do the same job?
' " 1 . =D 2R —)\nisl\ <l
(B) 55 hours

"(A) 5 hours 1
' ' R | Jz] 9o matk eas

Ipéeﬂ(; hours g I : (D) 63 houlrsll iyt &
(E) Answer not known - el JQMI T i b pow

) = b he
‘B’ aemeui ‘A’ aewaey oL 20% <ifswrs Caume Qeudprt. A @
Geuanaveni 7% wearfl Grrsdler Qawg WusSnrt erafle, B wl (b SibHd
Coummaw Qsiis (puss assman wafl CHb O 556 Qamereuni?

(A) 5 wanfl Cpyid (B) 5-%— wenfl CHyL
| © 6wanGpmw | (D) 61 wasl Gpyid -

(E) ofen GQzfweiidvene
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